direg

Plinko Game Board

By Nick Alicia
Difficulty
Easy

Who doesn't love Plinko? This game is the perfect addition to backyard parties (kid or adult parties), school carnivals, or as

part of a kids playroom. It will provide lots of fun with family and friends. It's a classic game that crosses all generations.

Page 1 of 15



Page 2 of 15



direg

Tools Materials

Kreg Tools Wood Products
§ 1 Plywood, 3/4" Thick, 24" X 48"

ﬂ Kreg® Pocket-Hole Jig 720

B 2 Board, 1x6, 96"
87

2 Board, 2x2,96"

Other Tools 4 Hardwood Dowels , 3/8", 48"
Miter Saw

Hardware & Supplies

Table Saw
13 11/4" Kreg Pocket Screws

Tape Measure 2 1/4" X 3" Brass Bolts

Clamps 2 /4" Brass Washers
Nail Gun 2 /4" Brass Wing Nuts
Router 4 Feet Of Brass Chain
Sander 4 Brass Eye Bolts

Tape Measure 1 43/4"X24"0.08" Plexiglass

1 Wood Glue

5 Pre-cut Numbers (2 - #1's, 2 - #2's, 1- #3) (Craft Or Dollar Store)
6 Pre-cut Letters - P-L-I-N-K-O (Optional) (Craft Or Dollar Store)
12 #8 X 3/4" Brass Screws

12 #8 Brass Finish Washers

4 21/2" Kreg Pocket Hole Screws

Page 3 of 15


https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html

Cut List & Parts

1

2

Plywood , 3/4" X 24" X 48"

Sides, 3/4" X 51/2" X 48"

Bottom , 3/4" X 51/2" X 251/2"

Point Dividers , 3/4" X 21/8" X 4 3/4" (45° At One End Of Each Board)
Legs,11/2"X11/2" X 44 5/32"

Cross Bar For Legs, 11/2" X 11/2" X 20 7/8"

Game Pucks, 3/4" X 3" Diameter

Page 4 of 15

direg



direg

Directions

Layout Grid and Router Top

1 Measure 8" from the bottom of the board (the 24" edge). Draw a line across the entire board. From that line, draw a line
every 2 3/4" until you have drawn 11 more lines (12 total). Then measure 1" from the left side and draw a line from the top to
the bottom of the board (the 48" edge). From that line, draw a line every 2 3/4" until you have drawn 9 lines total. Once you
get to the right side, there should be 1" remaining just like the 1" on the left side. OPTIONAL STEP: You can cut out an area at

the top of the board for some extra detail. Use your jigsaw to do this, and finish by using a round-over bit on a router, or use

your sander.

Page 5 of 15



direg

Drill Holes for Dowels
2 Using a 3/8" drill bit, drill holes in the locations shown on the diagram. Try to drill as straight as possible and only go 1/2"

deep. A collar stop on your bit at 1/2" would be very handy, if available.

Drill Pocket Holes

3 Drill pocket holes on the back of the board in the locations shown on the diagram.

Page 6 of 15



direg

Attach Sides and Bottom
4 Attach one 48" board to the left side, but be sure to set the board back 2 3/8" from the edge. A handy tip is to rip down a
piece of 2x4 to 2 3/8" inches wide so it can hold the board the proper distance from the face of the side boards. Attach using

wood glue and 11/4" pocket hole screws on the back side. Repeat for the right side and the bottom piece.

— Board set back 2 3/8"
/' from edge of frame

Attach Point Dividers
Attach 4 3/4" x 21/8" point dividers with the 45° ends oriented as shown on the diagram. Boards should be 3 7/8" - 4" apart as

shown on the diagram. Secure with wood glue on the back and bottom and 11/4" brad nails from the bottom.

Page 7 of 15



direg

Attach Plexiglass Panel

To cut the plexiglass to size, use a plastic cutting knife (available at your hardware store, or from wherever you purchased
your plexiglass). If there is a rough edge at the top, you can sand it with some 400 grit sandpaper, or just be sure to orient
one of the pre-finished edges from the original sheet at the top. Pre-drill two 3/8" holes carefully through the plexiglass at

each location shown. Use the #8 Brass Finish Washers and #8 x 3/4" Brass screws to secure. Be careful not to screw them in
too tight or they will crack the plexiglass.

Finish this edge with some 400 grit sandpaper so it's not too sharp.

Page 8 of 15



direg

Attach Dowels and Letters
Cut the dowels down to 2 1/2" long pieces. You will need 54 total. Apply a little bit of glue to the end of each one and gently

tap them into each peg hole using a hammer or rubber mallet. Letters are best bonded with super-glue (CA Glue) on both

the board and the plexiglass.

Each Pegis 2 1/2" long
and approximately 2" once
inserted into hole.

Paint & Stain

This is a good point to paint the main board and stain all other cut wood pieces. Stain entire lengths of the four dowel rods.
Once you cut them down to the final pieces and install them you can dab some stain on the ends to finish them. Letters

and numbers can also be painted or finished at this point and set aside to dry.

Page 9 of 15



direg

Build Stand
9 Assemble the two LEGS and CROSSBAR FOR LEGS in the manner shown, paying close attention to the orientation of the

angles on each end of the legs. The CROSSBAR FOR LEGS can be installed anywhere you feel comfortable. We installed ours

approximately 10" from the top of the legs. Secure with wood glue and 2 x 2 1/2" pocket hole screws on each end.

/— Cut at 30° Angle

Cut at 30° Angle

Cut at 15° Angle
Cut at 15° Angle

Prepare to Attach Stand to Board
10 Clamp the stand to the inside back of the board on either side. The bottom of the stand should be about 1/4-1/2" from the

bottom piece. Drill a 1/4" hole through the leg and side 2" from the top of the leg. Do this for both the left and right sides.

Flush with the side pieces and clamp in place. ————

Drill 1/4" hole through both the leg and the side piece 2" from top of leg,. ——

About 1/4-1/2" from the bottom piece —

Page 10 of 15



direg

Attach Chain
With the legs folded in, choose a location about half way down the legs and install two brass eye hooks on each side. One on

the inside portion of the leg, and one on the back of the game board. Attach 12-14" of chain to each side.

Page 11 of 15



hreqg

&

Page 12 of 15



direg

Bolt Stand and Board Together
Insert the 3" bolt through the hole from the outside and slip the 1/4" washer and 1/4" wing nut on the inside.

Page 13 of 15



direg




direg

Make Game Pucks

13 Using a 3" diameter hole saw (alternatively, you can use a scroll saw), make three game pucks out of the left-over 1x6 boards.

Sand down all edges and stain or paint. Keep in mind it needs to be nice and smooth to slide down the board!

Page 15 of 15



	Plinko Game Board
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Layout Grid and Router Top
	Drill Holes for Dowels
	Drill Pocket Holes
	Attach Sides and Bottom
	Attach Point Dividers
	Attach Plexiglass Panel
	Attach Dowels and Letters
	Paint & Stain
	Build Stand
	Prepare to Attach Stand to Board
	Attach Chain
	Bolt Stand and Board Together
	Make Game Pucks



